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Note : 1. All questions are compulsory.

2.Figures to the right indicate marks.
3. Use of Simple calculator is allowed.

Seat Number :-

QI) (A)Select the right answer from tge following Multiple choice questions. (Any 8)

1) In revenue function p is equal to

MAC D)MAR

x D) 100

Marks:80

8M

(col,R )

(col,R )

7M

A) AR B) MR
2) Derivatives of 100x will be

c)
(co2 ,R )

A) 1 B)0

3) Tlre derivatives of y: 4x2 + 4 is always (col ,R )
,a.)16 B)20 C)0 D)Sx

4) A square matrix, having all non-diagonal elements zerc and all diagonal elements with value 1 is called
(a) Scaler matrix (b) Unit matrix (c) Diagonal matrix (d) Square matrix (COl ,R )

5) A ---------- is an alrangement of all or part of a set objects in a definite order.
(a) Permutation (b) Function (c) Combination (d) Factorial (CO2 ,R )

6) Find the future value of Rs. 30,000 kept in a fixed deposit account, after 6 years at 8o/o rate of compound
interest p.a.

A) 47,6A0 B) 30,000 c) 44,400 D) 35,000 (CO3 ,R )

7) In how many years a sum of Rs. 50,000 will amount to Rs. 60,000 at lTyo simple interest?
A) 4 years B) 1.5 years C) 2 years D) 1 year (CO3,R )

8) If the annuities are paid at the end of each period, it is known as an (Col,R )
A) Immediate Annuity B) Life Annuity C) Annuity Certain D) Annuiry Due

9) 5!12!: 

-

A\ lr\ h\  nr\) r'v 'b') zv -Cl 5t, D) -oO -GO2 
R')

10) 0!

c)

A)1 B)0 c)100 D)10

Ql) (B) state whether the following statements are Tlue or False.

1) The derivatives of X is 1

2) The sum of principal and interest is called amount
3) Simple interest is greater than compound interest
4) The full form of EMI is equated to a monthly installment.
5) Permutation is the arrangement of objects in a line or circle.
6) When all the elements of the Matrix are zero it is called the null Matrix.
7) ln2x 2 matrices when the elements are 1 0 0 1 it is called identity matrices.
8) The value of 4! is 24.
9) I: PNR/I00 is formula for Simple interest.

10) Newton has given forward difference formula.

1.

(co 2,u )
(col ,u )
(co3 ,u )
(co l,u )
(col u, )
(co2 ,u )
(cot ,u )
(cot,R )
(col,R )
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12) (A) If an Amount doubles itself in 4 years, then find the rate of simple interest'(Co3,A ) SIvl

Q2) (B) Mr. ltam invested Rs. 25000, fcrr 5 years @ lT%p.a.c.r. find the accumulated value of annuity if interest

compounded quarterly and monthly. (CO1'3'A'R ) 7M

OR

Q2) (C) Fincl the Total profit if the cost function for x items produced

R:400x - xr. when x:4.
Q2) (D) there are 6 boys and 5 girls in the group if 2 boys and 3 girls

groups"

is C:20+10X -x3 and Revenue function is

(co2,A ) 8M

are selected frtld the nurnber of such

(co i,2 ,A ) 7M

(co1,2,A,R )SIVI468 B-
Q3) (A) Find A x B, if A:

Q3) (B) Expand A: a

6

5

b

a

1

9

J

6

5

4

c

a

b

-432
a5-4J

32-4

B

C

Q3) (c) If A: find 2A + 38 +I

(co2 ,I{,U ) 7N{

(co1,2,A)'l
3J

6B_

Q3) (D) Solve the following equations simultaneously using cramer's rule'
(co 1,2A)

x+\y*z: 6, 2x -2Y *z: l, -x +2Y - 2z: 5

Q4)(A)Finddy/dxofY:(4X+5)(7x2+4)byproductrule'(COl'2'A)8M

Q4) (B) If the cost function is given by c: 4x2t 5x* 8, find Tc, AC, MC when x= 4' (co2 
'A )

TIVI

OR

Q4) (C) price and Supplly for a certain cornmodities in a retail shop is as follows. Estimate the supply whcn

price was Ils. 15 using NFIF ' (CO1'2' ) BI\4

t6 20 24

Supply 56 60 68 72
(co1,2,A ) 7N'1

Q4) (D) find Newtous fotward difference table.

1 -1 0 1 2
aJ

Y 4000 3847 3701 3577 3448 J-1-1.-r

15lvl
Q5) Write Short Notes (AnY 3)

1) Distinguish berween Simple interest and compouud interest (co3,R)

2)'types of rnatrices (CO1,R)

3) Permutation and Cornbination (CO2,R)

4) EIUf and types with formula's (CO3,R,U)

5) Annuity and types of annuities (CO1,3, R,U)
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